
4010 320th Street • Boyden, IA 51234
www.demco-products.com • 800.543.3626

bolt torque specifications
Size Grade Torque
5/8” 5 150 ft/lbs.

20MM 10.9 515 ft/lbs.

22MM 10.9 702 ft/lbs.

NEW HOLLAND
TG210, TG215, TG230, TG245, TG255,

TG275, TG285, TG305
T8010, T8020, T8030, T8040, T8050

AC20088 , Rev 2
2/19

READ complete manual CAREFULLY BEFORE attempting operation.

Front of Tractor

Rear of Tractor

ITEM PART # DESCRIPTION QTY.
1. 00248 WASHER, 5/8” LOCK 8
2. 00290 BOLT, 5/8” X 2.00” GR5 HEX HEAD 8
3. 00291 NUT, 5/8” HEX 8
4. 03840 BOLT, 20MM-2.50 X 50MM GR10.9 8
5. 13222 BOLT, 22MM-2.50 X 120MM GR10.9 20
6. 13839-35 SPACER ASSEMBLY 1
7. 13840-35 LEFT BASEPLATE F/ NH TG/T8000 SERIES 1
8. 13841-35 RIGHT BASEPLATE F/ NH TG/T8000 SERIES 1
9. 13919-95 STARTER STUD 2

Please order replacement parts by PART NO. and DESCRIPTION.


